
3T~ - T.I1!~ 

(4 R 0 IIIl Cf)~, fcrifT.f.lT ~ &:II t...c<lI) 



~ ~ qJT \3,\~~£1 WsR "f(R ~ ~ crrc;fr ~ qJT 31~ ~ ~ I 
ID1{1 61ltr 1>l1l{'1 I Cf)'j "# 3f<:R men t <:IT ~ 31'R men t cIT fcR1 ~ qJT ~ 31 R1 RCfCi 
~ 511 f(;j Cf) let WsR ~ -g cIT ~ &RT ctT 'li ~ qJT ~ fcR1 ~ qJT 

men t I Cffi fcRr m ctT ~ ~ ~ -g I ~ ~ cf> \3,\~~£1 ctT ~ cf> 

~ ~ 8NT ~ cnaTI3iT "CflT fWrr 7f<lT I ~ &RT WsR ~ cmT 61ltr qJT 

31~ ~ 7f<lT1 

"iT" m qJT \3qlllll ~ ~ cf> ~ ~ 3f<:R ~ cf> ~ ~ rrat I 

31~ qJT \3C!\~~£1 ~I£I~~l ctT q;;U:qxPld ~ ~ \3q(>j~ "f(R "# 3f<:R ~ ~ ~ 

TI2Tr ~ 3f<:R cf> ~ \3rox ~ Ilj~ ~ qJT ~ ~ 3fR ID1{1 ~ "CflT ~ ~ cf> 

31TtIT'<" ~ ~-~ cjlfi~d ~ ~ 3f<:R ctT ~ ctT ~ "iT" ~1ffUT 8NT 

ctT 'li I mcl"ctJm ctT ~ .05 "f(R ~ ctT <p:fi I 
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q R <t> ("(HI Sfil{fq) - 1 

ClJaTI ~, ~ q -qfq II 3l~ ~ ~ ('f~ ~ ~ ~ &RT 

~ ~ II cpI ~ ~"$ ~ ~ 3R'R ~ ~I 

dl~Cf)1 - 1 

~ ~~~ l=fUl11R sPilRlIEP ~ t'r cpr "l1'Ff ~ 
3R'R 0.05 

~~ 64 23.44 21.26 ..Jf~ i : 8 ~ 
~3PXl 56 31.92 26.95 

df= 118 

~~ 1ll5l1 ~ ~ fcp ~ ~ ll64 ~ ~ 10t ~ 

~ II 56 ~ ~ I ~ ~ II ~ qJT ~ 23.44 ~ 10t \FilfUlCf) 

R1ik11 21.26 ~ ~ ~ II ~ qJT ~ 31.92 10t ~PilfUlCf) R1:q&1'1 26.95 

~ I \1 q X fc;! R5I (1 ~ II it qJT TfR I.' s ~ ~ \JlT fcp ~ ~ ~ Cf)11 ~ ~ Xi fc;! C! \11" 

'C9T51 UT?lT3lT ft11 Cb'l ~ ~ ~ ('f~ ~ ft11 Cb"1 +m! ~ "1tt ~ &RT cpI ~ 

~ II ~ ~ 3R'R ~ ~ I 3l(f: qRcpC'Y11 ~,cp1 ~ ~ I 

qR<t>(rlHI ~ - 2 

cnaTI dR, ~ q -qfq II 3lUFHx(1 ~ ('f~ 611fc;!Cf)I3lT "$ &RT "~ "$ ~ 

cpI ~" II ~ 3R'R -;:ffiT ~ I 

dl~<t>1 ~ - 2 

fcmTcif ~ cpr"l1'Ff 0.05 ~ lR ?2 cpr "l1'Ff 

~ (N=60) 3.33 3.841 

"l1~EPI~ (N 60) 

df=l 

dlfc;!Cf)1 ~ 2 ~ ~ ~ I fcp "~ "$ ~ cpI ~" II ~ 611fc;!Cf)13IT qJT ~ 

crt qJT TfR 3.33 ~ 0.05 ~ lR crl crt qJT TfR 3.841 ~ 3l(f: 3.33 ~ qJT TfR 0.05 

~ "$ TfR 3.841 ~ Cf)11 ~ 3l(f: ClJaTI dR, -=erR q -qfq "$ ~ 611 fc;! Cf) 1311 cpI ~ "$ 

~ cpI ~ II ~ 3tcR -;:ffiT ~ I 3l(f: qRCf)C'Y11 x-q'lCf)lx cpI ~ ~ I 



qR<t>CAFlI ~ - 3 

"CPaTI cfR", "'qR q -qfq .r ~ ~ - 511 f(;j Cf) 13IT ~ &NT ~ ~ .r 
"~rtT~".rcnW~~~61 

~ l;f2 CfiT ~ 0.05 ~ ~ ;p2 CfiT ~ 
~ (N=60) 3.74 9.488 

~(N=60) 

df=4 

t11f(;jCf)1 ~ 3 .r ~ 6 fcp "~ rtT ~" .r ~ 511f(;jCf)I3IT "CfJT ~ qrf "CfJT 

~ 3.74 6 0.05 x:m "CR ~ qrf "CfJT ~ 9.488 6 3Kf: 3.74 ~ ~ ~ 0.05-x:m ~ 
~ 9.488 ~ "CfJ11 6 3Kf: "CPaTI cfR", "'qR q -qfq ~ ~ 511f(;jCf)I3TI ctT ~ ctT ~ 
.r cnW ~ ~ ~ 6 1 3Kf: q RCf) c;q 'i I '{-ell Cf) I'! ctT \JffCfT 6 1 

"CPaTI cfR", "'qR q -qfq .r 3lUl<1'i'!t1 ~ - 511f(;jCf)I3IT ~ &NT ~ ~ .r 
"~ctT~".r cnW ~ ~ ~ 61 

dl~<t>1 ~ - 4 

~ f2 CfiT ~ 0.05 ~"CR cr2 CfiT ~ 
~~(N=60) 0.0396 

3PXl ~ (N=60) 3.841 

t11f(;jCf)1 ~ 4 ~ ~ 6 fcp ~ ~ q ~ ~ ~ ~ ~- 511f(;jCf)I3IT ctT 
~~.r~.rx=rr~~~6~~q~~~~~ 
"CfJT 2"CfJT ~ 0.0396 6 vfr ~ "CfJT ~ 0.05 x:m"CR 2"CfJT lfT'i" 3.841 6 vfr 2 ~ 

~ ~ "CfJ11 6 1 3Kf: q R Cf) c;q 'i I 31 '{-<?I Cf) I'! ctT \JlTCfI 6 1 



<pen ~ ~ ~ <WI 
~C{i"ll 

3 10 4 6 20 

4 8 8 4 20 

5 6 10 4 20 

<WI 24 22 14 60 

<pen ~ ~ ~ <WI 
~C{i"ll 

3 8 9 3 20 

4 7 9 4 20 

5 6 11 3 20 

<WI 21 29 10 60 

~ ~ <WI 

~~ ~ 

12 8 

10 10 

10 11 

32 29 60 

~ ~ <WI 

~~ ~ 

13 7 

8 11 

11 9 

32 27 60 

<p1ffi ~ ~ m.r 
3 8 12 

4 8 12 

5 9 11 

<WI 25 35 60 

<p1ffi ~ ~ m.r 
3 9 11 

4 12 8 

5 14 6 

<WI 35 25 60 
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CfaTI 5 c5 ~ ~ 1fc;jq'lI3ti q;l- ~ ~ "If ~ ~ ~ "If ~ 3tc=R 

~~I 

dl~(f)1 ~ 5 

~ ~ I:p:llfillCfi ~ i'r CfiT ~ ~3RR0.05 

~N=20 29.25 10.90 0.21 .,..g'f 

~N=20 28.55 14.49 

C'1I fc;jq'l I ~ 5 c5 3lCjC1~q'l'i xl ~ ~ fcp ~ cpI ~ X:(R 1R ~ "If 
crc=f-;:ft ~tfr ~ "If ~ 'qJT ~ 29.25 ~ \;PilfUlq'l Fc1ilC1'i 10.90 1W:rT l'f<lT 

~ ~1fc;jq'lI3ti 'qJT ~ 28.55 ~ ~lilfUlq'l Fc1ilC1'i 14.49 -qp:rr l'f<lT I 

t'r 'qJT ~ 0.21 ~ I 

~ t'r ~ <l 38 df1R 'qJT ~ 2.02 ~ 3tR >rf1{f t'r 'qJT lfR .21 ~ I \Jll 

cpI ~ c5 lfR xl Cf)1i' ~ I 3l(f: 3tc=R ~ ~ ~ qRq'lC'll'i1 ~ 5 3lt<1'1q'llx ~ 

cpI \Jffifi I 3l(f: CfaTI 5 "If 3lUlll'ixd ~ TIm ~1fc;jq'lI3ti cpI ~ ~ crc=f-;:ft ~tfr 
~ <l ~ 3RR "i'tf ~ I 



q R <t> 6'<H I Sf>lft<p - 6 

Cl)alT 4 cf> ~ <ill fcq Cfj 1311 ctT ~ cYll!Sl 'i ~ lf crcf;:fi ~ ~ .r ~ 3l'c=R 

~~I 

d I ~ <t> I Sf>lft<p 6 

~ l1'tll11R !:ll'llfillCfi ~ tI C!5T l'fA" ~~.05 

~N=20 34.15 14.18 1.33 ~ 

~N=20 29.55 15.41 

dlfcqCfjI ~ 6 cf> 3lClC1~Cfj'i xl ~ ~ fcl;" ~ cillfcqCfjIOlT ctT ~ xm lR ~ 
lf crcf;:fi ~ ~ .r ~ CfJT ~ 34.15 ~ !;Pil fUl Cfj fcl~ C1 'i 14.18 -qp:rr ll<lT 

~ <illfcqCfjIOlT CfJT ~ 29.55 ~ !FilfUICfj fcl~C1'i 15.41 -qp:rr ll<lT I it WaTUT 1. 

33 ~I 

~ 38 dflR IDl:(f it l1R 1.33 ~ l1R 2.02 xl "Cf)11 ~ ~'{ifcq~ 3R'R ~ ~ 

~ I q R Cfj C'G 'i I ~ 6 31 ,{-<l'l Cfj I '{ ~ ctT \JfJCfr ~ I 3ffi: Cl)alT 4 .r 3lUI <01 'i '{ d ~ 

cillfcqCfjIOlT ctT ~ ~ lf crcf;:fi ~ ~.r m~ ~ ~ I 

Cl)alT 3 cf> ~ .r ~ ~ crcMI ~tlT ~ .r ~ 3l'c=R ~ ~ I 

d I ~ <t> I Sf>lft<p 7 

~ l1'tll11R !:ll'llfilICfi~ tI C!5T l'fA" ~~.05 

~N=20 27.28 15.04 0.64 ~ 

~N=20 29.33 14.34 

dlfcqCfjI ~ 7 cf> 3lClC1~Cfj'i xl ~ ~ fcl;" ~ ctT ~ xm lR ~ .r 
crcf;:fi ~ ~ .r ~ CfJT ~ 27.28 ~ !>IJ1lfUlCfj fcl~('1'i 15.04 -qp:rr ll<lT 

~ <illfcqCfjIOlT CfJT ~ 29.33 ~ !>IJ1lfUlCfj fcl~('1'i 14.34 -qp:rr ll<lT I it CfJTl1R 0.64 

~I 

~ 38 df lR IDl:(f it CfJT l1R .64 ~ lfr'i" 2.02 xl "Cf)11 ~ ~ Xi fcq ~ 3l'c=R ~ ~ 

~ I q R Cfj C'G 'i I ~ 7 31 ,{-<l'l Cfj I'{ "'it! ctT \JfJCfr t I 3ffi: cfR .r ~ 6lTC1Cf) 

<ill fcq Cfj 10lT ctT ~ .r crcf;:fi ~ ~ .r ~ 3R'R ~ ~ I 



<pm - 3 

. 
BOYS X" 27.28 t Cf>T l1R 0.05 

N=20 SD 15.05 Cf>T l1R 

GIRLS X 29.33 0.64 2.02 

N=20 SD 14.34 

<pm - 4 

BOYS X 34.15 t Cf>T l1R 0.05 

N=20 SD 14.18 Cf>T l1R 

GIRLS X 29.55 l.33 2.02 

N=20 SD 15.41 

<pm - 5 

BOYS X 29.25 t Cf>T l1R 0.05 

N=20 SD 10.90 Cf>T l1R 

GIRLS X 28.55 0.21 2.02 

N=20 SD 14.49 
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Cf)/RT cfr;:r, "'E1lX q -qfq ~ 3lUlLl'""l'ni m?r UT?IT3lT ct &RT ~ ~ ~ qft ~ 

~, ~1?lICiiCf), l"61'1ll(1, ~, W6G ~, g'""lflf{fu, ~lciGRlCli(1, ~lciGC'1~q, W6G 

mm~,~~~~lf3RR~1 

CfJaIT 111 ?II fI't <tJ ~ ~ ~ g'iflRffi ~ '<1&«("114 ~ fcRr:r "$r% 
~ ~ ~ ~ fu;:g 

3 325 167 15 61 4 0 162 171 146 1050 
30.85 15.90 1.42 5.80 0.38 0 15.42 16.28 13.90 100% 

4 216 119 3 76 9 0 258 180 312 1182 
18.27 10.06 0.25 6.42 0.76 0 21.82 15.22 26.39 190% 

5 204 203 9 90 10 0 181 201 111 1009 
20.21 20.11 0.89 8.91 0.99 0 17.93 19.90 11.00 100% 

x=fRU'IT Wllicn 8 xl x=q1SC ~ fcp Cf)/RT cfr;:r, "'E1lX q -qfq ~ ~ m?r UT?IT3lT ct &RT 

~ ~ ~ qft ~ ~, ~1?lICiiCf), l"61'1ll(1, ~, W6G ~, g'""lflf{fu, 

~lciGRlCli.d, ~16GC1~q, W6G mm~, fcRr:r ~ ~ If xl ~ 3lfucp Wbrr 
"~I?lICiiCf)" \Nffi "Cf)11 "W6G mm~" "1"61'1ll(1" "~lciGC'1~q" "Rl\(I~R1<i5" (f~ ~ 

"Cf)11 "~ IciG RlCli (1" qft ~ ~ 3lmc=r "~ 1 &; RlCli (1" qft ~ 0 ~ Cf)alT "'E1lX ct m?r 

t9T?1T3lT -;f ~ m qft ~ Cf)/RT cfr;:r q -qt=q qft ~ If 3lfucp qft ~ I 31(1: x=fRU'IT 

xl x=q1SC ~ fcp Cf)/RT cfr;:r "'E1lX q -qt=q If ~ m?r t9T?1T3IT ct &RT ~ ~ ~ 

~ If 3RR ~ 31(1: fi 1 ~ l;;q q R Cf) C'<H 1 {ell Cf) 1 \( qft \JfICfr ~ I 



q R<t>(>'lI '11 mil 1 <t> - 9 

<nan ~ \:11:11 fill Cfi fcR:rwT it cnT ~ ~3RR0.05 

3~=40) 3.15 19.67 0.078 ~ 

4 ~=40) 2.82 17.64 0.19 .:31 ~ 

5~=40) 
31- 5 

3.6 17.66 0.107 
'-1'1- $' 

Cf)a=rT cfR, -=t:rR q LJT=q ~ ~ ~ 6!1~Cf)13IT "* 6RT ~ ~ lllTI 

~ ~ ~ ~ 6!1~Cf)13IT ~ ~ 6ITtT ~tft ~ ~ ~ Cf)a=rT cfR "* ~ 
51 I ~ Cf) 13IT "CflT liUl11R 3. 15 ~ \Fi I fO I Cf) Rhl &F1 19.6 7 ~ I Cf)a=rT -=t:rR "* ~ 51 I ~ Cf) 13IT 

"CflT liUl11R 2.82 ~ IFi 1 fO 1 Cf) Pc! il &1'1 17 .64 ~ I Cf)a=rT LJT=q "* ~ 51 1 ~ Cf) 13IT "CflT 

liUl11R 3.6 ~ ~ I'll""! I fO 1 Cf) Pc! il &1"1 17 .66 ~ I Cf)a=rT cfR ~ -=t:rR "* ~ 51 1 ~ Cf) 13IT "CflT 

it "CflT ~ 0 .078 ~ Cf)a=rT -=t:rR ~ LJT=q "* ~ 51 1 ~ Cf) 13IT "CflT it "CflT ~ 0 .19 ~ Cf)a=rT 

cfR ~ LJT=q "* 6fTC'iCf) 51 1 ~ Cf) 13IT "CflT it "CflT ~ O. 1 0 7 ~ I 

~ ~ ~ 38 dfiT C5T ~ 2.02 ~ 3fR ">fT"t(f tT "CflT l1R ~ cfi l1R 

~ CfJ11 ~ I q R Cf) 0FII ~ 9 31 '«l~ Cf) 1 '( ~ ctT \J1l"(ft ~ I 31c'f: Cf)a=rT dA", -=t:rR ~ LJT=q ~ 

31&1<'1"1'( (j 6fTC'iCf) 51 1 ~ Cf) 13IT cfi 6RT ~ 6ITtT "B ~ 3lm -;:ffit ~ I 


